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QUESTION 1

Find (27/9) × (?(25) × 2). 

A. 90 

B. 12 

C. 45 

D. 30 

Correct Answer: D 

 

QUESTION 2

Express 48 square centimeters in square meters. 

A. 4800 square meters 

B. 0.48 square meters 

C. 0.0048 square meters 

D. 0.048 square meters 

Correct Answer: C 

 

QUESTION 3

Arrange the numbers 5, 4.26, 9/4, 13/3, and 8/2 in order, from least to greatest. 

A. 13/3, 8/2, 4.26, 5, 9/4 

B. 9/4, 8/2, 13/3, 4.26, 5 

C. 4.26, 9/4, 13/3, 8/2, 5 

D. 9/4, 8/2, 4.26, 13/3, 5 

Correct Answer: D 

 

QUESTION 4

What is the value of a in this equation? 6a/5 - 2a/2 = 1/2 

A. 2/5 

B. 5 
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C. 20/4 

D. 5/2 

Correct Answer: D 

 

QUESTION 5

Two students were practicing the use of a scale. They each weighed an identical object 5 times. Student A got weights
of 103, 104, 105,106, and 107 pounds for the object, and student B got 101, 103, 105, 107, and 109 pounds for the
same object. 

Which of the following statements best describes the average and variation in their results? 

A. The two students got the same average weight and each had 5 measurements so the variability was the same. 

B. Student B got a higher average weight than student A and the same range. 

C. Student B got a higher average weight than student A and higher range. 

D. The two students got the same average weight, but student B had a higher range of measurements 

and more variability. 

Correct Answer: D 
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